«28 .
1 ( NaNO,)
1 NaNO,
(A ) o

: (D2NO + Na, 0,=—==2NaNO,; @NO

KMnO, NO, MnO, Mn®* .
I. NaNO,:
(1) A
(2) B .
(3) C
_ ) o
A.P,04 B. C. CaCl, D.
(4)E -
I NaNO,
(5) m g  NaNO,
o a mol * L'
KMnO, KMnO,
b mLo NaNO,
o KMnO,
m~a-b ) o

2017 4

226400

L(1) A

A
C +4HNO,( )===CO0, 1 +4NO, ! +2H,0

(2) NO  Na,O,
D NO B B
NO,
NO NO.
(3) C
C
B.D.
(4) D

2NO + Na,0,——=2NaNO,
E

5NO +3Mn0O, +4H —

5NO; +3Mn*" +2H,0
. NaNO,
(5) NaNoO,

2MnO, +5NO, +6H ===2Mn"" +3H,0 +5NO;
m g  NaNO,
o amol*L™ KMnO,



2017 4
KMnO, b mL.
2Mn0;  +  5NO, +6H =
2 5

amol/Lxbx107°L n
2Mn** +3H,0 +5NO;

Saxbx10~?
n="———r——

2 mol
NaNoO,
-3
5ax%mol x 69 g/mol 69ab
x100% =%
mg 4m
2 (2016 A
]

) Ca( Hzpoz) 2(

H,PO, )
(
16.7 g/100g
) 2
(P) Ca( H,PO,),
1 2
N, 98C
1h PH, .
Co, o
3 pH
(1) 1 N, .
(2) 1 PO )
; 2 e
(3) 3 e

NaH,PO, * H,0

NaH, PO, » H,0.
(
100C
667 g/100g )

NaH, PO, * H,0

29 .

Ca( H,PO,) , .
(1)
1 N,
(2) 1 P,
( ) Ca( H,PO,), PH,
98°C

2P, +3Ca( OH) , +6H,0 —=
3Ca( H,P0,) , +2PH, 1

P, Ca( OH) ,
2

P, Ca(OH),.
(3) Ca( OH),

Co, Ca( OH) ,

: Ca( OH) , .
(4)
NaH, PO, * H,0
Na,CO, NaH, PO,
Na, CO,
NaH, PO,

NaH,PO, « H,0 .

( 12017 - 02 - 10)



